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#include <stdio.h>
#include <conio.h>
int main()
{
int X, y, area, p;
clrscr();
printf(" Enter length and width:");
scanf(*%d%d"(8x, &y);

area = x *y;
p=x+y)*2
printf(* Area = %d, p = %d", area, p);
getch();
return O;
}

3P
Enter length and width: 12 10 il

Area = 120, p = 44 -
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#include <stdio.h>

int main()

{

int x, y, n;

float ave;

clrser();

printf(\nEnter three integers:");
scanf("%d%d%d", &x, &y, &n);
ave = (float)(x + y + n) / 3;
printf("\nave=%6.2f", ave);
getch();

return 0;

SIS
Enter three integers : 10 15 19

ave = 14.67
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#include <conio.h>
#include <stdio.h>
int main()
{
int r;
float area, p;
clrser();
printf("Enter the radius:");
scanf("%d",&r);
area =314 *r*r,
p=2*314 *r,
printf("Area = %6.2f, p = %6.2f", area, p);
getch();
return O;

u.’.‘.’)’.'
Enter the radius:10

Area = 314.00, p = 62.80
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#include <conio.h>
#include <stdio.h>
int main()
{
int x, y;
clrser();
printf(\n Enter two integers:");
scanf("%d%d", &x, &y);
printf("\n before change:x=%d, y=%d", x, vy);
X +=vy;
y=x-y,
X ==Y,
printf("\n after change:x=%d, y=%d", x, y);
getch();
return O;

u"'.‘JJ’.'
Enter two integers : 12 15

before change : x = 12,y = 15
after change : x = 15,y = 12
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#include <stdio.h> Saa pb
#include <conio.h> ail o0 let
int main() olael ggexa | SUM
{ oSl | ave
int i, sum=0, num ; 398 g0 0dilg3 a5 goac | NUM
float ave ; Col alactslows 458 Job 4y 6 | N
const int n = 5;
clrscr();

fori=0;i<n;i++) {
printf("enter number %d :"i+1) ;
scanf(*%d",&num) ;
sum += num :
}
ave = (float) sum / n:
printf("\n the average is :96.2f ‘,ave) ;
getch();
return Q;

97“_4-".'.’.?‘;'
enter number 1 : 12

enter number 2 : 13
enter number 3 : 15
enter number 4 : 16
enter number 5 : 13
the average is : 13.80
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#include <stdio.h>
#include <conio.h>

int main()
{
float i ;
clrscr();

fori = 0.5, i <= 3.5; i += 0.5)
printf("%5.2f ", i) ;

getch();

return 0;
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for (1=0;1i < 5;i++)
for (=0;] <= 6; jJ++) {

}
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int main()

{
intij;
clrser();

#include <stdio.h>
#include <conio.h>

S

10
15
20
25
30
35
40

printf("\n") ;
}
getch();
h return O;
}

1 2 3 4
2 4 6 8
3 6 9 12
4 8 12 16
5 10 15 20
6 12 18 24
7 14 21 28
8 16 24 32
9 18 27 36

Y
(=]
N
o
[#2]
(]

40

45
50

for(i=1 ; i<=10; i++) {
for(j=1; j<=10; j++)
printf("%3d "i*j)
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60

7

14
21
28
35
42
49
56
63
70

14

8

16
24
32
40
48
56
64
72
80

9

18
27
36
45
54
63
72
81
90

eI
10

20
30
40
50
60
70
80
90
100
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0l =1
NN=1x2x3x4x..x(n1) xn;
alip gla i
#include <stdio.h> XV ol
#include <conio.h> S adl> 3us et |
int main() sib ol dac | NUM
{ sae 9256 | fact
long int fact ;
int i, num ;
clrser();
for(;;) {

printf("\nType a number :") ;
scanf("%d",&num) ;

fact = 1 ;
fori = 1, i<= num; i++)
fact *= i ;
printf(‘Factorial is :%Id", fact);
}
}

Wb g 7 5l ok g
Type a number : 5

Factorial is : 120
Type a number : 6
Factorial is : 720

15




.ﬁfﬁh‘)ﬁ)dﬂ)'d.:j_,“_)‘,é.&a;tﬁudsd'tubf

1111
—_—t —  — e —
T4+ 7Y s 476

o
b deo¥f Cw :.L‘.Z‘a'l_).‘a‘,..._, d&"&:‘mhsﬂl&’_—r t—hhnwcd&ggit}w ‘J..:.:‘ ‘*“L'.f.-_'r.‘l
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#include <stdio.h>
#include <conio.h>
#define NUM 6
int main()
{
int count;
float sum, x;
clrscr();
for(sum = 0, x = 1.0, count = 1; count <= NUM; count ++, x *= 2)
{

sum +=1/x;
printf("sum = %7.4f, when count = %d\n", sum, count);

}
getch();
return O;
}
while 1,55 &i&lw
1St oolizad LB L5 sl s
while (b,.3) ST
- - IR A
Bl -
while (&,2) { ) ™ N oo
Y y95uwo
N 95w
}
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3135151 5 0o b LT b (bl (S 51 ok b 1S5 ) g2 (B A e alamDhe 45 5B 0Ls
e SN S bt o S 105 45 o o il Jo 5 ey ) s () 3 206 2 ST Sl )
i_u_ﬂ.\:_;ml,:a.ax.a—&-.,Jggiﬁ.a,.:dc)ujiﬁa.a?yuuﬁd):saﬁj XK gt o |l dil ) g2s
DE o Ak b 3 B 5k a3 a5 50 Sl b ey 208 AR 1SS e 1 50 L el b2
Jiww)mp@ﬁ@wrbﬁ;n.m aasls adl> 5 XS Iy 2w 3

IS AT edalie 3 se cul 53 D e canlsl 53 s e sl Sl
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h 835, sla_S IS slaas count sl opf 5oL (V) 5 42 o2
#include <stdio.h>
#include <conio.h>

int main()

{
int count=0 ;
clrscr();

printf("type a statement and ENTER 1o end:");
while(getche() '="\r')

count ++ ; '
printf("\n length of statement is:%d",count) ;
getch();
return O;

ST
type a statment and ENTER to end : | learn C language.

length of statment is : 19

do ... while ,1,55 LA Lw
2% add = b, s cwhile jlatlo 548 o ylis ol L sl while S5 skl wsle do... while 1,55 kel
‘wj-&éé;‘_ﬂcm:dl_r b | >4.El_>_bJ_t.do..
SR PR

- while )3 45 I 55 o 53 e S5 adl> (gluzy
Lo ol s Lt LU BBl Sl s 5 cdo . while 4ile ;55 4o 4o ol g2

129 oo JLS
do
295D
while (b 2) ;
do {
1 95w : _,.1 TP
A JBY S I ( ;

n gt
} while  (£,3) ;
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|_,l+ﬁ(_3”l_,_,.Ul_,s..,’t_,.:L,Lp'.jlf_,l.uljL;:l.z.-:l:c...-ieﬁahqiwhile Colg g S Al Sl o )2
C_,a‘,'.::.....'l_,i.;ﬁé-,_;jl.l.i.-(\).,...3.:1.1_;1_,51)(\)‘aﬂrbf:);sglp&)lﬁdlr:lagldix.ﬁ@w
do...while ails K 48 Lo )L il LS a5 i 5 aal gyt b 5o 5 ol (a3 0N LB
digit 5= 09,y LU a8 cnd (gaae num e wali ot g3 0,00 edge 4 ) 3 05 S Ol 4y o
.‘.__‘Su..\.\._%\o_,.,ba.xsaf‘.._...j:.J;L..:SL.;.L;TUJio;JSI.L;:-‘_;l_,.,.‘:....-l:.J.;QTrG_,i

i #include <stdio.h>

T I 3
#include <conio.h>

int main()

{
int num, digit = 0 ;
clrscr();
while(1){

printf(\nENTER a number:");
scanf("%d",&num);
printf("\ninverse="),
do{
digit = num % 10;
printf("%d",digit),
num /= 10,

} while(num !=0);
}//end of while(1)
getch();
return O;

ST
Enter a number : 1345

Inverse = 5431
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else
Sl ol
o () { ‘ NI 1Y
} yg5wd
Y )95
N jgiwd
}
else {
N1 ;gamwd
N2 ;g%uwd
N a5
}
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LS 8o 5 e |y s 533 o S 5 Lo LIS slas (93905 1 W S 05 LS slaal
2l S8 sl charcount juiia . g 0 025 Enter 1S 4 ahaz (slgzl 5 Lo Lm0 5 (space) akold
3y a0l g3 (5335 5148 Ll (5 S 1SCh LS o u;)u\)wgwﬂ.wwordcoum e

#include <stdio.h>
#include <conio.h>
int main()
{
int charcount = 0, wordcount = 0,
char ch;
clrser();
printi("\n Enter a statement(ENTER):");
while((ch = getche()) != "\r'){
charcount ++;
ifch == "")
wordcount ++;
}/fend of while
printf("\ncharcount=%d, wordcount=%d", charcount, wordcount+1);
getch();
return O;

}

SIS
Enter a statment (ENTER) : This book Is my favourite.

Character count = 26, wordcount = 5
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Ly adeor 535 gm 4a eld)| 3lad 5 la SIS 1S sl skl ‘:ﬁwﬁéEntcrwqdljdlwddlL
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#include <stdio.h>
#include <conio.h>
int main()
{
int charent = 0, digitent = O;
char ch;
clrscr();
printf("\n Enter a statement(ENTERY):")
while((ch = getche()) I= "\r'){
charent ++;

if(ch >= 48 && ch <=57)
digitent ++;
}/end of while
printf("incharcount=%d, digitcount=%d", charcnt, digitent);
geteh();
return 0;

}

S
Enter a statement (ENTER) : | write 21 books.
character = 17, digitcount = 2 -
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else if cios03 )G lw
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1200 e S 4 55555 55k 4L LTl 008 eslinad (saaze (slgbo 5 s (51 i g2ous 5 a5 S
else l'f‘)l:.i-l—ﬂ.Mls‘;l‘}.:;MUJ.IJ_U‘_’ﬁ-j‘&l{tér:";lMUJ.QO.L;JY‘,L%_,ALGZQ‘J:JJJ:QJVL{
q‘tﬂyom&&_,)éij.:ﬁ\ll{bub_ﬁu_:l;\_,;'-(_)!J,:-_,;_,,:-dﬁjwqjjajdbifqu-qxlj@
S ax g (else if L 5,803 Hif b SU) duS e o | alten S g5 e sSTAV LY sletes

v-15 Ju. &9
gradeMU_,.{O._:_‘JJ.J;SL’.A&;)[:;LﬁJJSJé|)C)Tu§J>JJLAp‘QJQ|}5-|)L£}2=~U|J‘5:J90JJ¢S‘5‘MUJ{
( HRGIRR JPY S CIPT R V-
17 <= gouc oy <= 20 = ‘A’
15 <= gousc oy <17 = ‘B’
12 <= gouc oy <158 = C
SV o <12 = D’

#include <stdio.h>
#include <conio.h>
int main()
{
float grade;
clrscr();
while(1){
printf("\n Enter a grade:");
scanf("%f",&grade);
if (grade >= 17 && grade <= 20)
printf("\n grade=%5.2f, score=%c", grade, 'A’);
else

if (grade >= 15 && grade < 17)

printf("\n grade=%5.2f, score=%c", grade, 'B’),
eise
if (grade >= 12 && grade < 15)

printf("\n grade=%5.2f, score=%c", grade, 'C’);
else
if (grade < 12)

printf("\n grade=9%5.2f, score=%c", grade, 'D’);

}//end of while
}
SIS

Enter a grade : 12
grade = 12.00 , score = C
Enter a grade : 18
grade = 18.00 , score = A
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break gimws
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break ;
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Wl - cOunt by ol 3 sliel slaes (ol ol okil 32 sluelslaasn 7 el slias count caal ol 53
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Ml g4 4a3l=break
#include <stdio.h>
#include <conio.h>
int main()
{
int num, count = 0, n = 0;
clrscr();
while(1)}{
printf("Enter a number:");
scanf("%d", &num);
if(num == Q)
break;
n++;
if(hum % 2 == Q)
count ++4;
}
printf(\n events=%d, odds=%d", count, n - count);
getch();
return O;
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goto ygiws

aal o 5 800 alad s oy L;!da.&;’ﬂJJ:SJLE:_'.'N'..,..-‘:_,..t‘_’.uali;,-ibuli_,”:u:g&q:ﬂ_,.deJ:.n: !

:Qu‘ﬁ_j@)_,.ﬁqJ}:#deﬂJlSLrﬁ_,J.aﬁw
goto < cawnp>

dﬁ;dm_l‘.loop:JLl:l}t-lQJJSL’-—“Q-:?-(.)J;b})};del-&Lhﬂ:ﬂ&Lﬂ‘)ﬁdé%;}
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LS e bl (551 ,SC ddls goto ) gzs Sleslizudl a5 (5laal
#include <stdio.h>
#include <conio.h>

int main{)

{
intx = 1;
clrscr();
loop1:
X ++;
if(x < 100)
goto loop1;
printf("\nThe maximum value of x is:%d", x);
getch();
return O;

s
The maximum value of x is : 100

switch Paosas Hlialw

SBur slg Semanad (5, bl RNl C 0L 55 e 5 Cr sla st 5l S switch el
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}

switch (o) {

case <Y ylade>
<} Olygimo>
break ;

case <Y Glade>
<Y olygiwa>
break ;

default:

<N Olygamws >

23002 M 4 3o g 4 Ll il sl g
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#include <stdio.h> GSan el
#include <iostream.h> Jo! wisles [ UM
#include <conio.h> p3d Ssles [ NUM2
int main() Al [0Op
{ A4l 28 Gy LSS ica | flag

int num1, num?2, flag = 1;

char op;

while(flag) {

clrscr();

printf("Enter num1, num2:");
scanf(*%d%d", &num1, &num2)
printf("Enter operator:"):
op = getiche();
switch(op){
case '+':
printf("\n sum=%d", num1 + num2):
break;
case - :
printf("\n minus=%d", num1 - numz2);
break;
case '/ :
case '\\' :
printf("\n division=%6.2f", (float)num1 / num2);
break;
case '* ;
printf("\n multiply=%d", num1 * numa2);
break;
default:
printf("\n operator is illegal.");
printf("in press a key to end.");
flag = 0:
}/end of switch
getch();
}/end of while
return Q;

}

T
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void  sample (int, int);

23 A1 V0id S dadle 851 e (6 4y el 0la yS,T 30 afs Z1.0e

#include <stdio.h> .
void sample (int x,int y); b S
int main()
q

int a,b;

&b Lgl.bal.o,!ﬂ

sample (a, b) ; GL: T

return 0 ;
} &U byl
void sample (int x,int vy) &L:ol o
{

printf(\n x = %d, y = %d", x, y) : @U Ly
- b

} LABJJJJCT\BGJ.:\SJKMGJ._@
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void func1 (void)

{

-}

void func2 (void)

— 1

{ et B

| vold func3 (void)
/

{

void funcl (void) ;

void func2 (void) ; /

void func3 (void) ;

int  main()

{ /
func1() ; /
func2(} ; -
func3() ; .

‘—-——______
return O ;

}

cal oSl &8 ¥ gsib
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findmax() U Ole 4851 O 528 4 0l 00l 55 (63953 ) Juoh 4els y 53M 3Y <X promas b ds el 0l 5
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ol
#include <stdio.h>
#include <conio.h>
vold findmax(int, int, int); ab s S
int main()
{
int x, y, m;
clrscr();
printf("\nEnter three integer numbers:");
scanf("%d%d%d", &x, &y, &m);
findmax(x, y, m);

1

return O;
}
//*********************
vold findmax(int p1, int p2, int p3) b Ol e
{ -

int maxp;

maxp = (p1 > p2) ? p1: p2;
maxp = (p3 > maxp) ? p3 : maxp;
printf("\maximum=9%d", maxp):
getch();
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#include <stdio.h>
#include <conio.h>
char tocapital(char);
int main()

{ :

clrser();

printf(\n Enter a character:");

ch = getche();

printf(\n Result is:%c", tocapital(ch));
getch();

return O;

}

//******* Tdkddkkikhhkkd

char tocapital(char ch)

{
if ch >="a' && ch <= '2)
ch -=32;
return ch;
}

il
Enter a character : t

Resultis: T
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#include <stdio.h>
#include <conio.h>
float area(float);
int main()
{

float 1, s;

clrscr();

printf("\nenter the radius:");

scanf("%f', &r);

s = area(r);

printf("\narea = %5.2f, s); ]

getch();

return O;

}

//****** o e e e e e o e e e e e e e de o

float area(float r)

{

float s;
s=r*r*314;
return s;

}

Tt
enter the radius : 10

area = 314.00
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#include <stdio.h>
#include <conio.h>
int prime(int);
int main()
{
int num;
char ans;
cirscr();
while(1) {
printf("\n Enter a number:") ;
scanf("%d", &num);
if(prime(num))
printf("\n Number %d is prime.”, numy);
else
printf(\n Number %d is not prime.", num);
printf("\n Do you want to continue?(y/n):");
ans = getche();
if(ans 1= 'y’
break;
Y/ end of while
getch();
return O;

}

//* AAEEAAKAAARARAERKRARRNNR

int prime(int num)
{
int i, temp = 1;
for(i = 2; (i <= num / 2) && temp ; i++)
if(num % i == 0)
temp = O;
return temp;

}

I

Enter a number : 97
Number 97 is prime

Do you want to continue ? (y/n) : V'

Enter a number : 7865
Number 7865 is not prime.

Do you want to continue? (y/n) : n
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#include <stdio.h>
#include <conio.h>
unsigned long fact(int) ;
int main()
{
int m;
clrscr();
printf("\n enter a positive integerS number:");
scanf("%d", &m),
printf("\n number=%d, fact= %Id", m, fact(m));
getch();
return 0;

}

,/************ dededdede ke ddke ek

unsigned long fact(int x)
{
if(x 1= 0)
return{x * fact(x - 1)) ;
return 1 ;

}

STI

enter a positive Integer number : 5
number = 5, fact = 120
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(.J.u‘,..fau,n tﬁibiﬁb J‘P&L‘JMJJQ‘JI‘,JMJ-L:-:‘{CJE

x[0] x[1] x[2] x[3] x[4]
(C.-.;’Ll k:-—-?'j) J.‘o;d‘a Ml}y 2 &JL J....n.'?_,.::ga eala ‘_‘,.al..a.‘.ﬁ'lqbiq 456!@5.7-‘_}1#
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x[(1] = 5 ;

o-1 Ju. @

'I.L_.HJJIJ_,:_-"J;.‘JJM JHJMJL"J’L,;‘;‘QLJJJ okl g2 (6399 31y elSls 0 June &5 (slaals
Dt SIS LS

_ s

4 08 g0 o2 P ddae o il 03 STy gl a3 g 1B Ll 5o el 1) O gaeils Jias Jh 1SS 4l
2 OF s 5 amax ;3 ave[0] e g3 1S5 4l 51 3 s o g .ol s 01 3, r e 0 f
samax ;5 1) 8,5 et e e S anslin bl oo b 1SS il K 3 1) aMaX yuew 23,8 0 43P y30

2350 AP 23 OF st
wbp sl i
#include <stdio.h> Son pl
#include <conio.h> bl sl cpeens 5120 Jolo 4 26 [N
int main() Jone 0o glan Jsb 4 glal] | ave
{ Jons 58,5 | amax
const int n = 5; 1S5 el o les |
float ave[n], amax = 0; al)l 5 yaie o 2859929 Joe |P
inti, p;
clrscr();

for(i = 0; i < n; i++){
printf(" enter an average:");
__scanf(*%f, &avel[i]);

}
amax = ave[0];
p=0

for(i =1;i < n; i++)
if(avefi} > amax) {
amax = aveli];
p=i
}
printf(\n max = %5.2f, position = %d", amax, p + 1);
getch();
return 0;

}
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S S g ) b shel s
#include <stdio.h> San ol
#include <conio.h> Vo Jobay 26 | N
int main() { n Jsbaglall [ arr
const int n = 10, siia dlactshua | €1
int arrfn], i, ¢1=0,¢c2 =0; Cude olagl olaws | €2
clrscr(); S5 il ens)les |

printf("\n Enter %d numbers and press ENTER:\n", n);
for(i = 0; i < n; i++4)
scanf("%d", &arr[i]):
printf("\ negavives are:");
fori=0;i<n;i++)
if(arr[i] < 0){
printf("%d, “,arr[i]);
cl ++;
} //end of if
printf("\n positives are:");
for =0;i<n;i++)
if(arr[i] > 0){
printf("%d, ".arr[i]);
c2 ++;
}/end of if
printf("\n number of negative = %d", c1);
printf("\n number of positive = %d", c2);
getch();
return O;

Enter 10 numbers and press ENTER :
12-3-644 -7 11 -75 199

negatives are : -3, -6, -7, -7,

positives are : 12, 44, 11, 5, 19, 9,
number of negative = 4

number of positive = 6
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#include <stdio.h>
#include <conio.h>
int main() {
int x[5], y[5], i, J:
cirscr();
fori=0i<5;i++) {
printf("Enter number %d : ", i + 1);
scanf("%d",8x[i]);
}
j=0
printf("Number in inverse:\n");
for(i=4;i>=0;i-){
il = x[i};
printf(*%3d", y[i]);
j++
}
printf(\nPress a key to continue...");
getch();
return 0; }

ST
Enter number 1:9

Enter number 2 : 11

* Enter number 3 : 15
Enter number 4 :14
Enter number 5 :8
Number in inverse:
8 14 15 119
press a key to continue...
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Son Jur Lo 4oliy
slaelolaas g1, ¥ Jsb oy 26 | K main
slael (g laKislp g raze kayl,l | temp
(ehb) slaet 4T | temp ginput()
GRebl) bl Job | len
ail> oui,led |
ail> oui,led | i goutput()
(elyb) slacl T | temp
(Rebl) abl Jy | len
rolis alulr gln SuS ice | item

#include <stdio.h>
#include <conio.h>
void ginput(int [], int);
void bubble(int [], int);
void goutput(int [], int);
int main()
{

const int k=7 ;

int temp[7];

clrscr();

ginput(temp, k);

bubble (temp, k);

printf("the sorted data are :\n") ;

goutput(temp, k);

getch();

return O;
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}

f/** TR FARd kb ddhkhhihiii

void ginput(int temp[], int len)

J
=

for(i=0; i < len; i++) {
printf("enter number %d:"i+1);
scanf("%d", &templi]);
}
}

j/t** AEAXARAKXAXA XXX AT R XY

void bubble(int temp[], int len)
{
int i, j, item;
fori=1len-1;i>0;i-)
for(=0;j<i;j++)
if(templj] > temp[j + 1]) {
item = templj] ;
templj] = temp[j + 1];
temp[j + 1] = item ;
H/end of if
}/ EEAAERARAAARAAXERR AR AT A AR L
void goutput(int temp]l, Int len)
{
int i;
for(i=0 ;i < len; i++)
printf(" %:3d".templi]) ;

enter number 1 : 25
enter number 2 : 57
enter number 3 : 48
enter number 4 : 37
enter number 5 : 12
enter number 6 : 92
enter number 7 : 86
the sorted data are:
12 25 37 48 57 86 92
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#include <stdio.h>
#include <conio.h>
void ginput(int [], Int);
int Isearch(int [], int, int);
int main()
{

const int k =5 ;

int st[k], no;

clrscr();
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ginput(st, k);
printf("\nEnter a student # to search:");
scanf("%d", &no);

if(lsearch(st, k, no} == -1)

printf("\n number %d not exist in list *,
else

printf("\n number %d exist in list.", no);
getch();
return O;

}

”*********t****************

void ginput(int st[], int len)
{
int i;
for(i = 0; i < len; i++) {
printf("enter student number %d:", i+1);
scanf("%d", &st[i]);
}//end of for
}

l****************t*****
int isearch(int st[], int len, int no)
{
int i;
fori = 0; i < len; i++)
if(st[i] == no)

return |
\return 1)
}

enter student number 1 : 100
enter student number 2 : 106
enter student number 3 : 108
enter student number 4 : 200
enter student number 5 : 290
Enter a student # to search : 106
number 106 exist in list.
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#include <stdio.h>>
#include <conio.h>
void ginput(int [], int);
void bubble(int [], Int);
int bsearch(int [], int, int);
int main()
{

constintk = 6§

Int st[k], no;

clrscr();

ginput(st, k);

printf(\nEnter a student # to search:");

scanf("%d’, &no);

bubble(st, k);

if(bsearch(st, k, no) == -1)

printf("\n number %d not exist in list *, no);
else

printf("\n number %d exist in list.", no);
getch();
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return Q;

}

”***t*****t*t**t*******:***

vold ginput(int st[], int len)
{
int i;
fori = 0;i < len; i++) {
printf(*enter student number %d:", i+1);
scanf("%d",&st[i]);
}/end of for
}

/w************t********

int bsearch(int st[], int len, int no)
{
int mid, low = 0, high = len - 1;
while(low <= high){
mid = (low + high) / 2;
if(no < st[mid])
high = mid - 1;
else if(no > st[mid])
low = mid + 1;
else return mid;
}
return -1;

}

”*******************t**

void bubble(int st[], Int len)
{
int i, j, item;
for =len-1;i>0;1-)
for( = 0, | < i:]++)
if(stlj] > stj + 1]) {
item = st[j] ;
st]] = st[j + 1];
stfj + 1] = item ;
}/end of if

}

IS
enter student number 1 ; 100
enter student number 2 : 180
enter student number 3 : 90
enter student number 4 : 120
enter student number 5 ; 80
Enter a student # to search ;: 180
number 180 exist in list.
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#include <stdio.h>
#include <conio.h>

int main()

{
int table[10][10], i, j ;
clrscr();
for(i = 0; i < 10; i++)

for( = 0; j < 10; j++)
table[i][jl = (i + 1)*G + 1) ;
fori = 0; i < 10; i++) {
for( = 0; j < 10; j++)
printf("%4d-" table[i][j]) ;

printf("\n") ;
}
getch();
return O;
}
STI
1 2 3 4 5 6 7 8 9 10
2 4 6 8 10 12 14 16 18 20
3 6 9 12 15 18 21 24 27 30
4 8 12 16 20 24 28 32 36 40
5 10 15 20 25 30 35 40 a5 50
6 12 18 24 30 36 42 48 54 60
7 14 21 28 35 42 49 56 63 70
8 16 249 32 40 48 56 64 72 80
9 18 27 36 45 54 63 72 81 20
10 20 30 40 50 60 70 80 90 100
- —
.Mjua)lﬁ‘jjﬁﬂébﬂtholJLﬁJTu__arﬂmLﬁ-se..u'l_,:'—LSJ_,)}JHJﬂjLJ_’JdSé‘MUﬁ
farpatt

Sad e Sias b la s Sle 0 2 53 e S SY X e Sl s a S UL e Sl R
A2l ol e e e Sl gla e Sl U J ol e Sl

1 3 2 7 29 25

4 S5 9 6 53 58
Z[0]1[0] =x[0][0] xVy [0] [O] + x[0] [1] xV¥ [1] [0] = ¥xY+ ¥xq="TA
z[0] [1] = x[0] [0] < ¥ [0] [1] + x [0 [1] =Y [1] [1] = =Y +¥<F =YD
z[1]1 [0] = x [1]1 [0] x v [0] [O] + x [1] [1] x y [1] [0] = £x¥ 4+ Axa = AY
z[1] [1] = x (11 [0] x y [0] [1] + x [1] [1] x ¥y [1] [1] = ¥xV + &= - BA
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#include <stdio.h>
#include <conio.h>

int main()

{
int mat1[2][3], mat2[3][4], mat3[2][4]={0} ;
int i,j,k| ;
clrscr();

/fread mat1
for(i=0 ; i<2 ; i++)
for(j=0 ; j<3 ;j++) {
printf("tenter mat1[%d][%d]: "i,j};
scanf("%d",&mat1[i][j]) ;
}
/fread mat2
for(i=0; i<3 ; i++)
for(j=0; j<4 ;j++) {
printf("enter mat2[%d}[%d]: ",i,j};
scanf("%d".&mat2[ii[i]) ;
}
/multiply matt by mat2
for(i=0 ; i<2 ; i++)
for(j=0 ; j<4 ;j++) {
mat3[i][j]=0 ;
for(k=0 ;k<3 ; k++)
mat3[i][jl = mat3[i][j}+mat1[i][kK]*mat2[Kk][i];
}
printf("\n the produc of mat1 & mat2") ;
printf(" is :\n\n"} ;
for(i=0 ;i<2 ;i++) {
for(j=0 ; j<4 ;j++)
printf("%5d", mat3[i][j]) ;
printf("\n"} ;
}
getch();
return 0O;
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#include <stdio.h>
#include <conio.h>
int findmin(int [], int);
int main()
{
int list[20], num, size=0 ;
clrscr();
do{
printf("type list[%d] : ", size) ;
scanf("%d", &list[size]) ;
} while(list[size ++] != 0) ;
size --;
num = findmin(list, size) ;

printf("\n minimum is:%d ",num) ;
getch();
return O;

}

Lj***********************
int findmin(int arr{], int size)
{

int i, mint ;
mint = arr[0] ;
for(i = 0 ;i < size; i++)

if(arr[i] < mint)

mini = arr[i] ;

return(mini) ;

eI
type list [0] : 10

type list [1] : 5
type list [2] : 18
type list [3] : O
minimum is : 5

52




Ly Ao

o=t gl lmand ) o g b ey aT La 2SS S sl il o e Ay ASUL el (b E 4255 «C 0L s

TASTUE TR, sl ens (S0 C Lo 0B e 1,3 ealinal 5, ge Kol Lol PSP Ccar R T T
fn 2 2 PR [T Py R, e L AAJJ;‘_,A ettt a N L as 5 58 e salaz (NULL = st ) fl".' “ ol
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char s[10] :

ol a5 s se ants pntcas LB Al Ul g e gt e 4axd€ o 4S5 LA e au b and ol ol smemes LS
RS

s[0] s[1] s[2] s[3] [4] s[5]1 sI6] s[7] s[8] =[9]

1] ] T Py T ey T T

r = 1 = T = P e S E——— e
=1 * | ' [ o | =« | = | =z | =2 [ = | 7|

.-u__u-L.-_,':SIJlS'g_L__,;;....-l‘\(.l’_,gl_,“‘-_;Lp-'-JS‘l_)LSJ‘;.'-_,_,154.5ﬁ).ﬁ;bdiﬁd_,i_,:suts“‘._;ﬂuwl_,a
CrmamS A ol Sl aS assT 51 i a1 SO LU L laaz s J b a5 sl o PPN ST DU I PR~ I [ P BT

Ly

aets() a0 L ALBH OI3len

2305 VL laaz s, Ol 45 e s yls 4l S stdio.h t}:UJ;bTLsJ;_HASJ_:JgBtS() C,'L‘.'L:n,\._t.JSE‘g:)UlS.pI_ﬁ-_,‘)kﬁ
T R e LI ¥ B1 W pN tC PR PR o SIS H PE | DESP C R R e

gets ( slanl; yaiio) ;

Sl L8, Enter s apl 4255 05,53 505 51 s D el 455 (63959 51 g 3 i a5 SEEL wS 5 ol g2 o

char stri[21] ;
gets (str1) ;

e
L s (space) dlols (s sl al g5 e a2, 10 LS e yasial, and slyni Enter A1S L gets() &b 3
asetaly i glgml et el e LS Ol ye 4y 5 Tab 5 4ol « scanf() C‘.-’U 2348 = 55 .42, Tab

laab) yasied Hoscanf() sgets() glas

char s[51] ;
gets (s) ;
scanf ("%s", s) ;

Sl o2l el s, JSgets() 246 @S 5,1 |, "computer science” 23 (Ol sias A e B S
Db AL Gl Slel Ol ye 4O 51 dmy J sLad) 55 s 0 a1, "computer” i, ks scanf() abas

puts() &6 L ALk, ol

3o G ol s S e 1,8 eslinad s 4a L,;:-_,_,;‘—JaLm:..:.)L-_,:..:_,.'.L;I_)_!;..:_,I.;j_,_;stdio.hJ.:LBJaASels;_,J_l

Pl 5 g 4 O1 38 S e 3, 1 (Sl a2 4
puts (aid,);
puts (slaxd; yuikio) ;

P S kS 5oy ol gred Jla Ol ye 4

char name = "ali" ;
puts ("your name is ") ;
puts (name) ;

Jéllcyjﬁnﬂ.})_l:.swc‘.)b: u_ag-_,_,:-:—_;aIJ‘_,.L::rJa)_,:_.._s‘_sJ:SI_,.-JIJiname_,.s"ali"c.:-)‘.J_,I)_,:....-.}L,
S el 5 - 31 name
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#include <stdio.h>
#include <conio.h>
void upper(char [});
int main()
{
char s[21];
cirscr();
printf("enter a string:");
gets(s);
upper(s);
puts(‘result is;");
puts(s);
getch();
return O;
}

f/#**** o e e v e de e o o e o o ke o o v ok

void upper(char s[])
{

int i;
for(i = 0; s[i]; i++)
if(s[i] >= 'a’ && sfi] <= '7))
sfi] -= 32;
}

STIS
enter a string : computer science

result is : COMPUTER SCIENCE
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#include <stdio.h>
#include <conio.h>
int main()
{
char s1[81], s2[81], temp;
int i, j;
cirscr();
printf("enter string <s1> : ") ;
gets(s1) ;
printf("enter string <s2> : ") ;
gets(s2) ;
for(i = O; si[i] && s2[i]; i++) {
temp = si[i] ;
s1[i] = s2]i] ;
s2[i] = temp ;
} //end of for
if(s1[i]) { //s1 has many char L Sl sl b
1=
while(s1[i])
s2[i] = sili++];
s2[i]="\0 ;
s1[i]="0" ;
}//end of if
else if (s2[i}) { //s2 has many char G dys2 Jobo
1=1;
while(s2[i])
s1[i] = s2[i++] ;
s2[j]="\0" ;
s1[i]="\0" ;
} //end of else if
printf("new content of s1 is!") ;
puts(s1) ;
printf("new content of s2 is:") ;
puts(s2) ;
getch();
return O;

I
enter string <s1> : computer

enter string <82> : science
new content of s1 is : science
new content of size : computer
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s = "all" H (M}QU)

cu “ﬂl :_,..:‘_,u.:u:..lstrcpy() GUJ'céé@)hd‘@)%“lh}ﬁéﬁ‘))i G‘MJQJ;GSG‘J.!
:J_’JUAJLS-Q#_'}QJ).‘ t\.g_’le.}JbiStl'ing.h Jili_,:
strepy (str1, str2) ;

:QA,EJ:\J#)Q!JP:.:_,.&U,-%SSHI JéC.M'StIZJJﬂSA.ﬁ‘thJPJ‘;HiLg‘ﬁ”.!

strepy (st, "computer’) ;
strepy (s, st) ;

bl 008 4 JLLS go S8 pa1ystand s p o gt g a0l st a1, "computer” 4zl ) J ) ) s
S Jdal 2 "computer”

Jas il A OISUl S Jas 48 ol 1 BLSIT 2 Str2 J b iy strepy() a6 )18 53

s e Sl ;5.8 8 a1 3strl 1 e abolidh Lol gla SIS 53,8 o) puo iy Ol y3 S
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char s3] ;
strepy (s, " computer science') ;
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double *f1, 12 ;
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int *p;
p = (int *) malloc (sizeof(int)) ;
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E free (p) ;
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2,05 41,3 stdlib.h
#include <stdlib.h>
#include <stdio.h>
#include <conio.h>
int main(}
{
int *x, *y, s;
clrscr();
X = (int *) malloc(sizeof(int));
if(!x){
printf("\n allocation failure.");
exit(1);
}
y = (int *) malloc(sizeof(int));
if('y{
printf("\n allocation failure.");
exit(1);
}
printf("\n enter two integers:");
scanf("%d%d", x, y);
s = *x**x+*y**y:
printf(\n sum of square is:%d", s);
free(x);
free(y);
getch();
return O;

u.’.'.’f;'
enter two integers : 5 10

sum of square is : 125
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#include <stdio.h>
#include <conio.h>
void swap(int *, int *);

int main(}
{
intx =10,y = 20 ;
clrser();
printf("\n first value of x,y are:%d, %d", X, y) ;
swap(&x, &y);
printf("\n final value of x, y are:%d, %d", x, y) ;
getch();
return O;
}
vold swap(int *a, int *h)
{
int temp ;
temp=*a ;
ta'=*b ;
*b=temp ;
}

SIS
first value of x, y are : 10, 20

final value of x, y are : 20, 10
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#include <stdio.h> # e ) T
#include <conio.h>
#include <string.h>
void check(char *a, char *b, int (*cmp)(const char *, const char *));
ffint cmp(char *, char *);
int main() {
char s1[80], s2[80] ;
int (*p)}{(const char *, const char *);
clrscr();
p = strcmp;
printf(" enter first string ") ;
gets(s1) ;
printf(* enter second string :") ;
gets(s2) ;
check(s1, s2, p);
getch();
return O;
}if***l********t***t*t*t*
void check(char *a, char *b, int (*cmp)(const char *, const char *)) {
if(!(cmp)(a, b))
printf(* the strings are equal.");
else
printf(* strings are not equal.”);

SSelat o 5 ke yle OF sla gzl 5p e Lot 552 51 (glaazd 5l kil sLe check() &b sladt S50
R paigl e 9315 LIS 55 kiloal *emp it b 534S la ity g0 51 Sa LS sl
&b $l o se (Femp)(a, b) ) sz check() als 53 .42 Jal g2 o goins 26 Se sl Olgea So st
Nl P IS s e ol s 3o sl somp S0l 3 @l OF o Ly j 3 g o stremp()
RIS o wcheck() gy 3 5 b slestremp() il 45 A2l s ao 5 s e DL Lt e pol 3 e
15 gu galyorl 5

check (s1, s2, stremp) ;
WU Ll 28 5 53 0o Gl Ul ey 5 51523 (a8 4 ol G o S il 5 Gl b s
213 Pl 33 518 e diS 4 o
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int table (5] ; e
int * ptr ;
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ptr = table ; S g0 & 5Ll glucil 4 table 4 ptr
*(ptr + 1) b ol Jolro table [1] aslyl pg0 puaie
ptr [2] (PRI Y 1Y P *(table + 2) wlyl paw paic
*pir b ool Jolae *table wly1 Jol e
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PR STIS N A
#include <stdio.h>
#include <conio.h>
int main() {
int arr[5] i ;
cirscr();
printf(\n enter five value ") ;
for(i=0; i<5 ; i+ +)
scanf("%d", &arr[i]) ;
printf("\n the reverse output is :");
for(i=4 ; i>=0;i-)
printf("%4d",*(arr +i)) ;
getch();
return 0;
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int *x, n;
scanf ("%d".&n) ;
x = (int *) malloc (sizeof (int) * n) :
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int p;
p = (int *) malloc (n * sizeof (int)) ;
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
void pinput(int *, int);
void bubble(int *, int);
void median(int *, int, float *);
vold pout(int *, int);
int main() {
int n, i;
int *p;
float mead;
clrscr();
printf(" enter number of items(n):");
scanf("%d", &n);
p = (int *)malloc(n * sizeof(int));

if{!p){
printf(" aloocation failure!");
getch();
exit(1);

}

pinput(p, n);

bubble(p, n);

printf("\n sorted data are:");
pout(p, n);




median(p, n, &mead);
printf("\n median = %5.2f", mead);
getch();
return O;
}

!."**********t*tt*******ﬁk*******
void pinput{int *p, int n)
{
int i;
for(i=0;i < n;i ++){
printf(*enter number %d:", i + 1);
scanf("%d", p + i);
}
}

’( ARENKERAKERRANARTETRRAARNR RN R kok*

void bubble(int *temp, int len)

{
int i, j, item;
fori=len-1;i>0/i-)
for(f = 0;j < i; j++)
if(*(temp + j) > *{temp + j + 1)) {
item = *({temp + j);
*(temp + j) = *({temp + ] + 1),
*(temp + j + 1) = item ;
}/end of if
}

f.f***t* TR 3% e e e e e ke e

void median(int *x, int n, float *mead)
{
if(n % 2 == 0)
*mead =(float) (*(x + ((h-1)/2) + *x + (n/ 2D / 2;
else
*mead = *(x + (n - 1) / 2);
}

J{ft*tttttt***t!***
void pout{int *p, int n)
{
int i;
for(i = 0 i < n; i +4+){
printf(*%3d",*(p +i));
}
printf("in");
}
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#include <stdio.h>

#include <conio.h>

int char_count(char *, char);

int main()

{
char string[40] , ch ;
int count ;
clrscr();
printf(" enter string for search:");
gets(string) ; -
printf(" enter a character:") ;
ch = getche() ;
count = char_count(string, ch) ;
printf("\n number of occurs of char ") ;
printf(" <%c> is:%d", ch, count);
getch();
return O;

fjt*titt******t*t***

int char_count{char *s, char letter)

{
int count=0 ;
while(*s)
if(*s+ + == letter)
cournt +—+ ;
return{count) ;
}

enter string for search : a book about computer.
enter a character : a
number of occurs of char <a> Is : 2
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#include <stdio.h>
#include <conio.h>
first_dif(char *, char *, int);
int main()
{
char st1[40], st2[40] ;
int compcase = 1 ;
clrscr();
printf(" enter first string:") ;
gets(stl) ;
printf(" enter second string:");
gets(st2) ;
first_dif(st1, st2, compcase) ;
getch();
return O;

}

!’(t* Ak o e sk o e el de v ok ok ok ek

first_dif(char *s1, char *s2, int ignore_case)
/* if ignore_case is 1 ,ignore case

of letter */
{
inti;
chara, b ;
for(i = 0; *s1 && *s2; s1++, 82+ +, i++)
if(*s1 1= *s2) {
if(ignore_case) {
a=(*s1 >="a’ && *s1 <= 'Z2") ? *s1 -= 32 : *s1;
b= (*s2 >= 'a’ && *s2 <= 'z') ? *s2 -= 32 : *s2;
if(a '= b)
break ;
}//end of if
else
break;
Y/end of if
if(*s1 || *s2) {
printf(\n strings are not equal,");
printf(" the first difference occurs in :%d", | + 1);
}
else
printf("\n strings are equal .") ;
}
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a) int *num ;
printf("%d", *num) ;

| S NP Sy Ko irvmemdsr wamiald o
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void *genericptr = numptr ;
result = *genericptr +7 ;
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